
 µW0001CL89AU-FIT$010802220000qÄ
W0001CL89AU-FIT$010802220000

 

 

 

 

 

 

Fitting 

Instructions 

 
TOWBAR 

For Mitsubishi Colt 5 Door 
2004 

For 2030 series necks 

CL89AU 

for 

CL89AQ 

CL89AS 

& 

CL89AQF 

MATERIALS 
A 1 Cross Bar 
D 5 M10 x 1.5 x 30mm Bolts, Lock Washers and Flat Washers (30mmO.D.) 
E 1 Left Hand Side Arm 
F 1 Left Hand Side Arm Extension 
G 4 M10 x 1.5 x 40mm Bolts, Lock Washers and Flat Washers (30mm O.D.) 
H 1 Right Hand Side Arm Extension 
K 1 Right Hand Side Arm 
L 4 M10 x 1.5 x 30mm Bolts, Lock Washers and Flat Washers (30mm O.D.) 
M 4 M12 x 1.75 x 35mm Bolts, Lock Washers and 2 Nuts 
N 1 M12 Flat Washer (25mm O.D.) 
ZE 1 Electrical Plate (ZEP2) 

FITTING 
1. Remove three rearmost exhaust hanger rubbers and temporarily lower exhaust. 
2. Loosely attach Left and Right Hand Side Arm Extensions (F) and (H) to inside faces of chassis rails using Bolts 

(D). Loosely attach Left and Right Hand Side Arms (E) and (K) to underside of chassis using Bolts (G) also 
bolting through Side Arm Extensions (F) and (H). 

3. Attach Left and Right Hand Side Arms (E) and (K) to the outside faces of the chassis using Bolts (L). Loosely 
attach Cross Bar (A) to Side Arms (E) and (K) using Bolts (M) 

4. Attach chosen neck and electrical plate angle (ZE) as per separate instruction. Tighten all bolts. 
 
 
Please refer to the vehicle specification for the trailer weight and nose limits, which must be observed. 
Recommended torque settings: M8 - 27Nm, M10 - 53 Nm, M12 - 95 Nm, M14 - 150 Nm, M16 - 214 Nm 

 

 


